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Note: A standard Complex Fraction is a rational expression where at least one numerator or denominator is a
fraction. The most reliable method is the method 1 shown in examples 1, 2, and 4of the text. | modified the
writing so that less confusing and 1I’m calling the LCD of complex fraction GLCD.
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Since the expression is more than one term, we should do our operations in stages, 1% the complex
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Just like exercise 34, this one has multiple terms and complex fractions. We should start with the

complex fraction of the denominator:
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Now we replace this answer to the complex fraction of the denominator and continue:
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This exercise has complex fraction within the numerator and denominator. Since the small complex
fractions are identical, we just have to solve one to replace on both:
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Now we can replace the solution above into both numerator and denominator.
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